
2 pcs U-bolts M8
4 pcs Nut M8
4 pcs Washer M8

Included fasteners:Poleplate 300 Ceiling
E-no: 2700404     S-no: 3506315
Assembly instructions

www.nextgreen.se
info@nextgreen.se

Next Green AB
Brudtallsvägen 14
SE-792 32 MORA
SWEDEN

Assembly instructions
Fasten the Poleplate to the pipe 
using u-bolts. Tighten the nuts with 
equal torque.
The pipe must not end to low due to 
the bendradius of the cable. Mount 
the charger to the plate using 
proper fasteners. Install the charger 
according to the vendors manual.

All electrical installation work must be carried out by an authorized 
installer and meet the installation requirements in the country of use.



Poleplate 300 Ceiling
E-no: 2700404     S-no: 3506315
Assembly instructions

www.nextgreen.se
info@nextgreen.se

Next Green AB
Brudtallsvägen 14
SE-792 32 MORA
SWEDEN

Footprint of chargers

24000044-999 V1.0© Next Green AB 2024



www.nextgreen.se
info@nextgreen.se

Next Green AB
Brudtallsvägen 14
SE-792 32 MORA
SWEDEN

2 st U-bult M8
4 st Mutter M8
4 st Bricka M8

Montering
Fäst plattan på röret med de 
medföljande u-bultarna. Dra åt 
muttrarna jämt. Röret bör ej 
sluta för långt under nedre 
fästet då kabeln kan få för liten 
böjradie. Montera laddaren på 
plattan med lämpliga skruvar. 
Installera laddboxen enligt 
instruktioner från 
laddboxtillverkaren.

Poleplate 300 Tak
E-nr: 2700404     S-nr: 3506315
Monteringsanvisning

Medföljande fästelement:

Allt elinstallationsarbete måste utföras av en auktoriserad installatör 
och uppfylla installationskraven i användningslandet.



www.nextgreen.se
info@nextgreen.se

Next Green AB
Brudtallsvägen 14
SE-792 32 MORA
SWEDEN

Poleplate 300 Tak
E-nr: 2700404      S-nr: 3506315
Monteringsanvisning

24000044-999 V1.0© Next Green AB 2024


	Bild 1
	Bild 2
	Bild 3
	Bild 4

